Ea EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

— www.EquipmentAnchorage.com
v

U ’CW US A l NC oes J. ROBERSON siE-Er

sosno.  11-1682
ULTRA Il ARTICULATING WALL MOUNT [ = -~ 3
OF SHEETS
SEISMIC SUPPORTS ¢ ATTACHMENTS 6" WALL MOUNTED
- . -l
STRUCTURAL ENSINEER OF
RECORD SHALL DESIEN THE
WALL STRUCTURE
CG.WT.= 10 LB
USE (8)- 1/4"¢ TEK SCREWS
AT STEEL STUD WALL
/ (16 GAGE, 50 ksi MIN)
—-—_>TU
=T
e e B L
36" ALUMINUM TRACK. SHOWN
(020" THK, 6063-T5 ALUMINM Fy=21 KSI MIN |
19" TRACK (AWAY FROM WALL) Ty TV 19 TRACK (AGANST WALL)
Tu = 227 LB/SCREW (MAX) 5/8" THK. v Tu = 156 LB/SCREW (MAX)
Vu = 87 LB/SCREW (MAX) WALL BOARD .| ’ Vu = 221 LB/SCREW  (MAX)
36" TRACK (AWAY FROM WALL 36" TRACK (AGAINST WALL
Tu = 153 LB/SCREW (MAX) Tu = 145 LB/SCREW (MAX)
Vu = 87 LB/SCREW  (MAX) Vu = 154 LB/SCREW (MAX)

STEEL STUD WALL SECTION

NOTES:
1. FORCES ARE DETERMINED PER 2016 CALIFORNIA BULDING CODE AND ASCE 7-10

STRENGTH DESIGN IS USED. (Sps = 170, @p = 25, = 15, Rp = 25, zh <)

HORIZONTAL FORCE (En) = 306 Wp
VERTICAL FORCE (Ev) = 034 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN.
THIS PREAPPROVAL ENCOMPASSES ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN,

3 STRUCTURAL ENGINEER OF RECORD FOR THE BULDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




Ea EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
— www.EquipmentAnchorage.com

\w_// ICW USA INC. oes J. ROBERSON 85

Joeno. 11-15632
ULTRA Il ARTICULATING WALL MOUNT
DATE 2/17/17 oF 3 SHEETS
SEISMIC SUPPORTS & ATTACHMENTS WALL MOUNTED
19° TRACK |.25" |.25"
l~—__ STRUCTURAL ENGINEER OF RECORD
1 3 SHALL DESIGN THE WALL STRUCTURE
© 36" ALUMINUM TRACK SHOWN
1&-‘ % (0.208" THK, 6063-T5 ALUMINUM Fy=21 K3l MIN)
< =
> T}

CE6.WT.=ll0o1B

L @_Aﬁ (X = 2041")

)

|6II

USE (8)- 1/4"6 TEK SCREWS (MIN)
AT STEEL STUD WALL
yr g‘/_ (16 GAGE, 50 ksl MIN)

ELEVATION AT WALL

LOADS: PER 2016 CALIFORNIA BULDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 170, @p = 25, Ip = 15, Rp = 25, zh < 9
WEIGHT = 10 LB )
HORIZONTAL FORCE (Er) = 306 Wp = 337 LB SCREW SPEC: 1/4¢ TEK SCREWS

. ! oT = 418 LB/SCREW
VERTICAL FORCE (Ey) = 034 Wp = 37 LB oV = 362 LB/SCREW
SCREW FORCES:

TENSION (T) (AWAY FROM WALL) TENSION (T) AT SHEAR MAX (AGAINST WALL)

A (12010#) + BT#1269" _ 4 | 5 /soREW A (1210 + T4 _ o1 | screw

25orens (16”) 2 sorews (16”)
Tupamup, = 0 LB (FREE TO ROTATE) Tuparate= — 337#4)  _ 1oe | B/SCREW
8screws (125")
337#

Tovax = 143# + 844 = 227 LB/SCREW (MAX) Towax = 2H + 135# = 156 LB/SCREW (MAX)
SHEAR (V)

Vysmsrwan =, [ (_2108) + 7#5) - 3a7# Y (21108 + 8T _ ot oiscmew (MAX) .". OK

2 screws (16”) 4 SCREWS 4 SCREWS U=

2
Viax e T o = J 12(104#) + 37# N < 3374 > - 87 LB/SCREW (MAX)
8 scREWS 4 SCREWS

UNITY CHECK: (AGAINST WALL GOVERNS)

AT 6\ [ 2ot a ‘
(q:T) * (cnv) <10 (418 ) * (362) 098 <10 .7 OK




[ELSE;

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

36 TRACK

N” SHEET
U ’CW US A | NC. oes. J. ROBERSON 3
soNno. 11-1632
ULTRA Il ARTICULATING WALL MOUNT [ .
SEISMIC SUPPORTS & ATTACHMENTS WALL MOUNTED

[.25" [.25"
STRUCTURAL ENGINEER OF RECORD

VARIES
5" MIN

33"

4 SHALL DESIEN THE WALL STRUCTURE
o

~— 36" ALUMINUM TRACK SHOWN
(0.208" THK, 6063-T5 ALUMINUM Fy=21 K5I MIN)

03"

CG. NT. =ll0LB
(X = 264"

USE (&)- 1/4"9 TEK SCREWS
AT STEEL STUD WALL
(I6 GAGE, 50 ksi MIN)

oo

13"

4

ELEVATION AT WALL

WEIGHT = 110 LB

HORIZONTAL FORCE (En) = 306 Wp = 337 LB
VERTICAL FORCE (Ev) = 034 Wp = 37 LB
SCREW FORCES.

TENSION (T) (AWAY FROM WALL)

(12(1104) + 37#)269¢

T =

Tuparate, = 0 LB (FREE TO ROTATE)

337#
4 SCREWS

T, = 69# + 84# = 153 LB/SCREW (MAX)

= 84 LB/SCREW

Tuperp, =

SHEAR (V)

= 69 LB/SCREW

LOADS: PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 170, @p = 25, lp = 15, Rp = 25,z/h <)

TENSION (T) AT SHEAR MAX (AGAINST WALL)
(12(1104) + 37#)4"

T oL = - 10 LB/SCREW
2 screws(33")
Tuparae = — 30#H4) 35| B/SCREW
8screws (125")
Tegp = 0 LB (FREE TO ROTATE)

Ty = 10# + 135# = 145 LB/SCREW (MAX)

(12(1104) + 37#)(25")

3374 12(110#) + 374}

VuAGAINSTWALL:\/<

2 screws(33")

4 SCREWS

)

>: 154 LB/SCREW (MAX) .°. OK
4 SOREWS

374 ¥

Vi MA@ T u i = J 12110#+37# +<

UNITY CHECK: (AGAINST WALL GOVERNS)

1)+ (o) <o () [

oT oV 418 362

4 scREws

) 077 <

> = 87 LB/SCREW (MAX)

10 .. 0K




	1
	2
	3

